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1. Describe the Stoke’s theorem and Helmholtz’s theorem in detail. (20%)

2. Tt is known that charges introduced in the interior of a conductor will move to the conductor surface and
redistribute themselves in such a way as to make both the volume charge density of free charges and the
electric field intensity vanish under equilibrium conditions. Estimate the time it takes to reach equilibrium.
(25%)

3. Determine the force per unit length on each of three equidistant, infinitely long, parallel wires 15 (cm) apart,
each carrying a current 15 (A) in the same direction. (25%)

4. Determine the minimum dielectric constant of the guiding medium such that an EM wave incident on one
end of a dielectric fiber at any angle will be confined within the fiber until it leaves from the other end.
(30%)




